

International Journal of Mathematics And its Applications

Fixed Points of a New Type of Contractive mappings in G-Metric Spaces

Animesh Gupta^{1,*} and Prahalad Singh Kaurav²

1 H.No. 93/654, Ward No. 2, Gandhi Chowk Pachmarhi, Hoshangabad, Madhya Pradesh, India.

2 Department of Mathematics, Government P.G. College, Gadarwara, Narsingpur, Madhya Pradesh, India.

Abstract:	In this paper, using a mapping $F : \mathbb{R}^+ \to \mathbb{R}$, a new notion of contraction in <i>G</i> -metric space is introduced and related fixed point theorem which generalizes various known results in <i>G</i> -metric spaces. The paper includes an example which shows the validity of our results.
MSC:	47H10, 54E50.
Keywords:	F-contraction, contractive mapping, fixed point, G -metric space. © JS Publication.

1. Introduction and Preliminaries

Throughout the paper denoted by \mathbb{R} is the set of real numbers, by \mathbb{R}^+ is the set of all positive real numbers and by \mathbb{N} is the set of natural numbers. The Banach contraction principle [2] is the simplest and one of the most versatile elementary results in fixed point theory. After that many mathematicians generalized the Banach contraction principle in different directions. Some of these works may be noted in [1, 3–9, 15]. Mustafa and Sims [10]introduced the concept of G-metric space in the year 2006 as a generalization of the metric space. In this spaces a non-negative real number is assigned to every triplet of elements. Several other studies relevant to metric spaces are being extended to G-metric spaces for examples [11–14]. Consistent with Mustafa and Sims [10], the following definitions and results will be needed in the sequel.

Definition 1.1 ([10]). Let X be a non empty set, $G: X \times X \times X \to R^+$ be a function satisfying the following properties:

- $(G_1) G(x, y, z) = 0 \text{ if } x = y = z,$
- (G_2) 0 < G(x, x, y) for all $x, y \in X$ with $x \neq y$,
- (G_3) $G(x, x, y) \leq G(x, y, z)$ for all $x, y, z \in X$ with $x \neq y$,

 (G_4) $G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$ (symmetry in all three variables),

 (G_5) $G(x, y, z) \leq G(x, a, a) + G(a, y, z)$ for all $x, y, z, a \in X$ (rectangle inequality).

Then the function G is called a generalized metric, or, more specially, a G- metric on X, and the pair (X,G) is called a Gmetric space.

^c E-mail: animeshgupta10@gmail.com

Definition 1.2 ([10]). Let (X,G) be a *G*-metric space, and let $\{x_n\}$ be a sequence of points of *X*, therefore, we say that $\{x_n\}$ is *G*-convergent to $x \in X$ if $\lim_{n,m\to+\infty} = G(x,x_n,x_m) = 0$, that is, for any $\epsilon > 0$, there exists $n \in N$ such that $G(x,x_n,x_m) < \epsilon$ for all $n,m \ge N$. We call *x* the limit of the sequence and write $x_n \to x$ or $\lim_{n\to+\infty} x_n = x$.

Lemma 1.3 ([10]). Let (X,G) be a G-metric space. The following statements are equivalent:

- (1). $\{x_n\}$ is G- convergent to x,
- (2). $G(x_n, x_n, x) \to 0 \text{ as } n \to +\infty$,
- (3). $G(x_n, x, x) \to 0 \text{ as } n \to +\infty,$
- (4). $G(x_n, x_m, x) \to 0 \text{ as } n, m \to +\infty,$

Recently, Wardowski [16] introduced a new concept of F-contraction and proved a fixed point theorem which generalizes Banach contraction principle in a different direction than in the known results from the literature in complete metric spaces. In present article, an attempt has been made to introduce a new type of contraction called F-contraction in G-metric space and prove a some fixed point theorem concerning F-contraction. The article includes the examples of F-contractions and an example showing that the obtained extension is significant.

2. Main Results

Consider, together with Wardowski, the following properties for a mapping

Definition 2.1. Let $F : \mathbb{R}_+ \to \mathbb{R}$ be a mapping satisfying:

- (F1) F is strictly increasing, i.e. for all $\alpha, \beta \in \mathbb{R}_+$ such that $\alpha < \beta, F(\alpha) < F(\beta)$;
- (F2) For each sequence $\{\alpha_n\}_{n\in\mathbb{N}}$ of positive numbers $\lim_{n\to\infty} \alpha_n = 0$ if and only if $\lim_{n\to\infty} F(\alpha_n) = -\infty$;
- (F3) There exists $k \in (0,1)$ such that $\lim_{\alpha \to 0^+} \alpha^k F(\alpha) = 0$.

We denote the set of all functions satisfying properties (F1)(F3), by \mathcal{F} .

Following the concept of F-contraction due to Wardowski [16], we define F-contractions in G-metric space as follows:

Definition 2.2. A mapping $T: X \to X$ is said to be F-contraction if there exists $\tau > 0$ such that

$$G(Tx, Ty, Tz) > 0 \Rightarrow \tau + F(G(Tx, Ty, Tz)) \le F(G(x, y, z) \quad \forall x, y, z \in X$$

$$\tag{1}$$

We obtain the variety of contraction, when we consider the different types of the mapping F in 1. Some of them are of a type known in the literature. See the following examples:

Example 2.3. Let $F : \mathbb{R}_+ \to \mathbb{R}$ be given by the formula $F(\alpha) = \ln \alpha$. It is clear that F satisfies F(1) - (F3), (F3) for any $k \in (0, 1)$. Each mapping $T : X \to X$ satisfying 1 is an F-contraction such that

$$G(Tx, Ty, Tz) \le e^{-\tau} G(x, y, z), \quad \forall x, y, z \in X, \quad Tx \neq Ty \neq Tz.$$

$$\tag{2}$$

It is clear that for $x, y, z \in X$ such that Tx = Ty = Tz the inequality $G(Tx, Ty, Tz) \leq e^{-\tau}G(x, y, z)$ is also holds.

Example 2.4. If $F(\alpha) = \ln \alpha + \alpha, \alpha > 0$ then F satisfies (F1) - (F3) and the condition 1 is of the form

$$\frac{G(Tx,Ty,Tz)}{G(x,y,z)}e^{G(Tx,Ty,Tz)-G(x,y,z)} \le e^{-\tau}, \quad \forall x,y,z \in X, \quad Tx \neq Ty \neq Tz.$$

$$(3)$$

Example 2.5. Consider $F(\alpha) = \frac{-1}{\sqrt{\alpha}}, \alpha > 0$. Then F satisfies (F1) - (F3), (F3) for any $k \in (1/2, 1)$. In this case, each F-contraction T satisfies,

$$G(Tx, Ty, Tz) \le \frac{1}{(1 + \tau\sqrt{G(x, y, z)})^2} G(x, y, z), \quad \forall x, y, z \in X, \quad Tx \neq Ty \neq Tz.$$

$$\tag{4}$$

Here, we obtain a special case of nonlinear contraction of the type

$$G(Tx, Ty, Tz) \le \alpha(G(x, y, z))G(x, y, z).$$

Example 2.6. Let $F(\alpha) = \ln(\alpha^2 + \alpha), \alpha > 0$. Obviously F satisfies (F1) - (F3) and for F-contraction T, the following condition holds;

$$\frac{G(Tx, Ty, Tz)(G(Tx, Ty, Tz) + 1)}{G(x, y, z)(G(x, y, z) + 1)} \le e^{\tau}, \quad \forall x, y, z \in X, \quad Tx \neq Ty \neq Tz.$$
(5)

Let us observe that in Example 2.3- 2.6 the contractive conditions are satisfied for $x, y, z \in X$ such that Tx = Ty = Tz.

Remark 2.7. From (F1) and 1 it is easy to conclude that every F-contraction T is contractive mapping, i.e.

$$G(Tx, Ty, Tz) \le G(x, y, z), \quad \forall x, y, z \in X, Tx \neq Ty \neq Tz.$$

Then every F-contraction is continuous mapping.

Remark 2.8. Let F_1 and F_2 be the mappings satisfying $(F_1) - (F_3)$. If $F_1(\alpha) \leq F_2(\alpha)$ for all $\alpha > 0$ and a mapping $P = F_2 - F_1$ is nondecreasing then every F_1 -contraction T is F_2 -contraction.

Indeed, from Remark 2.7 we have $P(G(Tx, Ty, Tz) \leq P(G(x, y, z))$ for all $x, y, z \in X$, $Tx \neq Ty \neq Tz$. Thus, for all $x, y, z \in X$, $Tx \neq Ty \neq Tz$ we obtain

$$\begin{aligned} \tau + F_2(G(Tx,Ty,Tz)) &= F_1(G(Tx,Ty,Tz)) + P(G(Tx,Ty,Tz)) \\ &\leq F_1(G(x,y,z)) + P(G(x,y,z)) = F_2(G(x,y,z)). \end{aligned}$$

Theorem 2.9. Let (X, G) be a complete G-complete metric space and let $T : X \to X$ be an F-contraction. Then T has a unique fixed point $x^* \in X$ and for every $x_0 \in X$ a sequence $\{T^n x_0\}_{n \in \mathbb{N}}$ is convergent to x^* .

Proof. First, we shall show the existence of fixed point of T. Let $x_0 \in X$ be an arbitrary point of X. We define a sequence $\{x_n\}_{n\in\mathbb{N}}\subset X, x_{n+1}=Tx_n$ for all $n\geq 0$. If there exists $n_0\in\mathbb{N}$ for which $x_{n_0+1}=x_{n_0}$ then x_{n_0} is a fixed point of T, that is $Tx_{n_0}=x_{n_0}$. Therefore, assume that $x_{n+1}\neq x_n$ for every $n\in\mathbb{N}$. Denote $\gamma_n=G(x_n,x_{n+1},x_{n+2})$. Then $\gamma_n>0$ for all $n\in\mathbb{N}$ and the following holds for every $n\in\mathbb{N}$ by successive applications of using (1) that

$$F(\gamma_n) \le F(\gamma_{n-1}) - \tau \le F(\gamma_{n-2}) - 2\tau \le \dots \le F(\gamma_0) - n\tau.$$
(6)

97

From 6, we obtain $\lim_{n\to\infty} F(\gamma_0) = -\infty$ that together with $F \in \mathcal{F}$ gives

$$\lim_{n \to \infty} \gamma_n = 0. \tag{7}$$

From $F \in \mathcal{F}$ there exists $k \in (0, 1)$ such that

$$\lim_{n \to \infty} \gamma_n^k F(\gamma_n) = 0. \tag{8}$$

From 6, the following hold for all $n \in \mathbb{N}$,

$$\gamma_n^k F(\gamma_n) - \gamma_n^k F(\gamma_0) \le \gamma_n^k (F(\gamma_0) - n\tau) - \gamma_n^k F(\gamma_0) = -\gamma_n^k n\tau \le 0.$$
(9)

Letting $n \to \infty$ in 9, and using 7 and 8, we obtain

$$\lim_{n \to \infty} n \gamma_n^k = 0. \tag{10}$$

It follows from 10 that there exists $n_1 \in \mathbb{N}$ such that $n\gamma_n^k \leq 1$ for all $n \geq n_1$. Consequently we have

$$\gamma_n \le \frac{1}{n^{1/k}},\tag{11}$$

for all $n \ge n_1$. Further we show that $\{x_n\}_{n \in \mathbb{N}}$ is a Cauchy sequence. For this consider $m, n \in \mathbb{N}$ with $m > n \ge n_1$. From the definition of the *G*-metric space and from 11 we get

$$G(x_m, x_n, x_n) \le \gamma_{m-1} + \gamma_{m-2} + \dots + \gamma_n < \sum_{i=n}^{\infty} \gamma_i \le \sum_{i=n}^{\infty} \frac{1}{i^{1/k}}.$$

As $k \in (0, 1)$, the series $\sum_{i=n}^{\infty} \frac{1}{i^{1/k}}$ converges and so $\{x_n\}_{n \in \mathbb{N}}$ is a Cauchy sequence. From the completeness of X there exists $x^* \in X$ such that $\lim_{n \to \infty} x_n = x^*$. Finally from the continuity of T, we have

$$G(Tx^*, x^*, x^*) = \lim_{n \to \infty} G(Tx_n, x_n, x_n) = \lim_{n \to \infty} G(x_{n+1}, x_n, x_n) = 0,$$

which completes the proof.

Note that for the mappings $F_1(\alpha) = \ln(\alpha), \alpha > 0$, $F_2(\alpha) = \ln(\alpha) + \alpha, \alpha > 0$, $F_1 < F_2$ and a mapping $F_2 - F_1$ is strictly increasing. Hence, by Remark 2.8, we obtain that every contraction 2 satisfies the contraction condition 3. On the other side in next example, we show that a mapping T which is not F_1 - contraction, but still F_2 -contraction. Consequently, Theorem 2.9 gives the family of contractions which is general are not equivalent.

Example 2.10. Consider a sequence $\{S_n\}_{n\in\mathbb{N}}$ as follows;

$$S_{1} = 1,$$

$$S_{2} = 1 + 2,$$

$$S_{3} = 1 + 2 + 3,$$

$$\dots$$

$$S_{n} = 1 + 2 + 3 + \dots + n = \frac{n(n+1)}{2} \quad \forall n \in \mathbb{N}.$$

98

Let $X = \{S_n : n \in \mathbb{N}\}$ and $G(x, y, z) = |x - y| + |y - z| + |z - x|, x, y, z \in X$. Then (X, G) is complete metric space. Define mapping $T : X \to X$ by the formulae; $F(S_n) = S_{n-1}$, for n > 1 and $TS_1 = S_1$. First, let us consider the mapping F_1 defined in Example 2.3. The mapping T is not the F_1 -contraction in this case. Indeed, we have

$$\lim_{n \to \infty} \frac{G(T(S_n), T(S_{n-1}), T(S_1))}{G(S_n, S_{n-1}, S_1)} = \lim_{n \to \infty} \frac{G(S_{n-1}, S_{n-2}, 1)}{G(S_n, S_{n-1}, 1)}$$
$$= \lim_{n \to \infty} \frac{|S_{n-1} - S_{n-2}| + |S_{n-2} - 1| + |1 - S_{n-1}|}{|S_n - S_{n-1}| + |S_{n-1} - 1| + |1 - S_n|}$$
$$= 1.$$

On the other side taking F_2 as in Example 2.4, we obtain that T is F_2 -contraction with $\tau = 1$. To see this, let us consider the following calculations;

$$T(S_m) \neq T(S_n) \Leftrightarrow ((m > 2 \land n = 1) \lor (m > n > 1)) \quad \forall m, n \in \mathbb{N}$$

For every $m \in \mathbb{N}$, m > 2 we have

$$\frac{G(T(S_m), T(S_m), T(S_1))}{G(S_m, S_m, S_1)} e^{G(T(S_m), T(S_m), T(S_1)) - G(S_m, S_m, S_1)} = \frac{S_{m-1} - 1}{S_m - 1} e^{S_{m-1} - S_m} = \frac{m^2 - m - 2}{m^2 + m - 2} e^{-m} < e^{-m} < e^{-1}$$

For every $m, n \in \mathbb{N}$, m > n > 1 the following is holds,

$$\frac{G(T(S_m), T(S_n), T(S_n))}{G(S_m, S_n, S_n)} e^{G(T(S_m), T(S_n), T(S_n)) - G(S_m, S_n, S_n)} = \frac{S_{m-1} - S_{n-1}}{S_m - S_n} e^{S_n - S_{n-1} + S_{m-1} - S_m} = \frac{m + n - 1}{m + n + 1} e^{n - m} < e^{n - m} < e^{-1}.$$

References

- A. D. Arvanitakis, A proof of the generalized Banach contraction conjecture, Proceedings of the American Mathematical Society, 131(12)(2003), 3647-3656.
- [2] S. Banach, Sur les operations dans les ensembles abstraits et leur application aux equations integrales, Fundamenta Mathematicae, 3(1922), 133-181.
- [3] L. Ciric, A generalization of Banachs contraction principle, Proceedings of the American Mathematical Society, 45, 267-273 (1974)
- [4] L. Ciric, A new fixed-point theorem for contractive mappings, Publ. Inst. Math. (Belgr.), 30(1981), 25-27.
- [5] L. Ciric, Solving the Banach fixed point principle for nonlinear contractions in probabilistic metric spaces, Nonlinear Anal., Theory Methods Appl., 72(3-4)(2010), 2009-2018.
- [6] P. Chaipunya, Y. J. Cho and P. Kumam, Geraghty-type theorems in modular metric spaces with an application to partial differential equation, Adv. Differ. Equ., 2012(2012), 83.
- [7] P. Chaipunya, C. Mongkolkeha, W. Sintunavarat and P. Kumam, Fixed-point theorems for multivalued mappings in modular metric spaces, Abstr. Appl. Anal., 2012(2012), Article ID 503504.
- [8] P. Chaipunya, C. Mongkolkeha, W. Sintunavarat and P. Kumam, Erratum to Fixed-point theorems for multivalued mappings in modular metric spaces, Abstr. Appl. Anal., 2012(2012), Article ID 241919.
- [9] A. Meir and E. Keeler, A theorem on contraction mappings, J. Math. Anal. Appl., 28(1969), 326-329.

- [10] Z. Mustafa and B. Sims, A new approach to generalized metric spaces, J. Nonlinear and Convex Anal., 2(7)(2006), 289-297.
- [11] Z. Mustafa, H. Obiedat and F. Awawdeh, Some of fixed point theorem for mapping on complete G-metric spaces, Fixed Point Theory Appl., 2008(2008), Article ID 189870.
- [12] Z. Mustafa, W. Shatanawi and M. Bataineh, Fixed point theorems on uncomplete G-metric spaces, J. Math. Stat., 4(4)(2008), 196-201.
- [13] Z. Mustafa, W. Shatanawi and M. Bataineh, Existence of fixed point result in G-metric spaces, Int. J. Math. Math. Sci., 2009(2009), Article ID 283028.
- [14] Z. Mustafa and B. Sims, Fixed point theorems for contractive mappings in complete G-metric space, Fixed Point Theory Appl., 2009(2009), Article ID 917175.
- [15] T. Suzuki, A generalized Banach contraction principle that characterizes metric completeness, Proceedings of the American Mathematical Society, 136(5)(2008), 1861-1869.
- [16] D. Wardowski, Fixed points of a new type of contractive mappings in complete metric spaces, Fixed Point Theory Appl., 2012(2012), doi:10.1186/16871812201294.